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tan(—x ) = tan(x) Sin(—x) =-8in(x) Cos(—x) = Cos(x)
_ Sin(z—x)=Sin(x) Cos(7—x)=-Cos(x)
(m=x)=—tan(x) .
tan (7 +x )= tan(x ) Sin(r+x)=-3in(x) Cos(m+x)=-Cos(X)
7 1 Sin| Z-x |=Co Cos| Z-x |=Sin
en( 5 = iy 1 #0271 f(z x J=cos(x) S(; x) ®
tan(%Jer:_tanl(x) Ix #0722 Sln(§+xJ:Cos(x) Cos(§+xj:—8|n(x)
Sin(x) -1<Sin<1 ~1<Cox <1
ten(x) Cos(x) Sin(x +2kz)=Sin(x) Cos(x + 2k )=Cosx
et ()= o5 Sn<x+:n):<-1>:s»'n<x> Cos(x-+k)= (-1 Cosx
Cotan(x)= -1 sn(nf)-(-" | cos(nm)=(-1
~tan(x )
Sinz(x):tanz(xz) Cos?2 (x )+Sin?(x )=1
1+tan
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tan(a)+tan(b) Cos(a+b)=Cos(a)Cos(b)-Sin(a)Sin(b)
an(a+b) =1 tan(a).tan(d) Cos(a—b)=Cos(a)Cos(b)+Sin (a)Sin (b)
tan(a)—tan(b) Sin(a+b)=Sin(a)Cos(b)+Cos(a)Sin(b)
tan(a-b) 1+ tan(a).tan(b) Sin(a—b)=Sin(a)Cos(b)-Cos(a).Sin(b)
t iy Sin(a+b) COS(a)cOs(b)z;[cOs(a+b)+cOs( “b)]

an(a)+tan(b)= os(a)Cos(b) _ _ 1
Sin(a-b) Sln(a).Sln(b):z[Cos(a b)-Cos(a+h)]
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Sin(a)Cos(b)== Sin(a+b)+Sin(a-b)|
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Cos(2a) :Cosz(a)—Sinz(a)
= 2(3032(a)—1
~1-2Sin?(a)

Sin(2a)=2Sin(a)Cos(a)

2tan(a)

tan(2a):l_tan—2@)

Cos(a)+Cos(b)= xos[azbjCos(a%j
Cos(a)-Cos(b)= —28|n£a+bJS|n[a;j
Sin(a)+Sin(b)= 28|n£

Sin(a)-Sin(b) =28|n[a7j 0s
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1+Cos(a)=2Cos“| 1+Cos
C 1-12 L ) (Zj Cosz(a):T
0S(X )= ol 8 _
N 1+t 2 1—Cos(a):28|n2(gj Slnz(a):l—Cozs(Za)
2
Sin(x )= _ _
(X) 1412 3 Sm(a):ZSm[%j.COS(%j tanz(a):l—Cos(Za)
A 1+Cos(2a)
tanX = 9
1-t
X=a+2kr X:a:"2k7f
Sin(x)=Sin(a)< o/ lke7 Cos(x)=Cos(a)< sl lkeZ

X=m—-a+2Kr

X=—a+2kr

aCos(x)+bSin(x)=va?+b2Sin(x +a)

aCos(X)+bSin(x)=+va2+b2Cos(x —a)
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